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Course 413 — ECONOMIC ANALYSIS

Tr'me . 3 Hours Maximum Marks : 75

(Write your Roll No. on’ the top immediately
on receipt of this question paper.)

Note — The maximum marks printed on the question paper
" are applicable for the candidates registered with the
School of Open Learning. These marks will, however,
be scaled down proportionately in respect of the
" students of regular colleges, al the time of posting

of awards for compilation of result.

Note :— Answers may be written cither in English or in
Hindi; but the same medium should be used
throughout the paper.

- oot ;- 27w w7 I s @ R Al v s X A
AT W I W W vE & S 9 |
| Attempt All guestions. |
All gquestions carry equal marks.
iy aﬁﬁfﬂl..
R

1. (a) “Firm is a ‘coalition’ whose members have

conflicting goals that must be resolved if the firm
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is to survive.” Discuss briefly the various methods
by which the top management resolves these
conflicts. (7%4)

(b) Compare the change in equilibrium of a sales
revenue maximiser hav'ing profit constraint with
that of a profit maximising producer for (i) increase
in cost of production and (ii) imposition of tax.

(7'4)
OR

(c) Discuss Baumo!’s theory of sales revenue
maximisation as an alternative goal to profit
maximisation. . (7%%)

(d) “Separation of ownership from the management
has led to managerial discretion in pursuing goals
other than profit maximisation.” Elaborate the
statement. (72)
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2. {(a) What_ do you mean l;y ‘network externalities 7

How do they affect the derivation of demand
curve ? - - (7'%)

(b) Write a short note on Cobb-Douglas production
function. Under what circumstances a Constant
Elasticity of Substitution (CES) production function
-will reduce to a CD format? (7%)

OR

{c) “The contract curve represents optimal resource
allocation of a multiproduct firm.” Elaborate.

. . ' (7%) .

(d) Between food subsidy and income 'supplement,

choose the least 'cost alternative to raise the level
of public welfare. {7%4)
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3. (a) Write short notes on (i} learning curve and
{ii) reserve capacity. (72)

+
)

(b) “Whether a perfect competitive firm earns
supernormal profit or incur loss in the short run
will depend purely on the cost of production of
the firm.” Explain with suitable diagram. (7%)

OR

(c) Shifting a product from a perfect competitive
market to a monopoly market results in welfare
loss.” Explain. (7)

(d) Prove that a discriminating monopolist will charge
a high price in the inelastic market and a low

price in the elastic market. (7'%)
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‘4. (a) Define ‘product group’ -under monopolistic
competition. How does a monopolistic firm attain

- long run equilibrium with both price competition

and free entry existing side by side ? (7%)

(b) Discuss the common types of price leaderships
practised in oligopolistic markets, (7'%)

OR

(¢} “Equilibrium under bilateral monopoly is unstable.”

" Do you agree ? Elaborate. (7%)

P.T.O.
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(d) Differentiate between the Cournot and Stakelberg

models of duopoly. Which one you think to be
more realistic and why ? (7'%) -
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5. (a) “Traditional theory of pricing fails to explain the
occasional practice‘ of firms of sefting prices
corresponding to the inelastic part of the demand
cu_r#e.” Which pricing theory addresses this issue ?
Elaborate. (7%)

{b) Given perfect competition in factor and commodity
market, the equilibrium price of labor is set to
equal the value of its marginal product. Explain.

(7%2)



2053 . 7
OR

(c) What do you mean by transfer pricing ? Discuss
various models of fixing transfer prices.  (7%)

(d) “Leonhard Euler proved that the physica! output is
exhausted by paying each factor its marginal
physical product if and only if ‘the production
function is linear homogeneous.” Elaborate the
statement. : ‘ (7'%) ‘
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